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By HH, JE gt (e

=3 3,257 — 15,902 | # I T 1,848 | 62 15
T 8#& M 3,952 1 2,520 | K R HT 1,831 ] 64 23
g% + 2,053 | 54 44 1/ BN EY 2,235 45 83
oo 3,185 | 12 1,233 [t HH HY 1,710 | 66 9
o oW 3,936 | 8 1,389 |38 IR HT 1,884 | 60 10
fE b ™ 2,437 39 63| % W HT 2,127 47 51
AEES 2,492 | 371 522 | F 8 HT 2,540 34 9
A =E ] 3,175 | 13 1,278 | 3 FF HI 2,242 | 43 28
B MH W 3,974 6 289 | M b HT 2,061 | 53 9
L ] 2,657 28 183 | B8R G HT 1,496 | 72 36
3 A 3,094 | 18 321 | 3% BT 1,374 13 17
R H T 5,255 | 8 433 | %F ¢ W 2,203 | 46 17
B a M 3,103 16 326 | KK EEHT 1,844 | 63 84
B & W 4,369 4 158 | Ju+LERHT 1,558 | 68 99
J\ETEH 2,797 23 94 | BX B Hr 2,498 | 36 59
18 i 2,431 | 40 179 |1 & OHT 2,112 | 49 18
BEHH 3,856 | 10 388 | @ # 956 | 80 15
Li] il 3,779 9 866 | 2 R HT 2,018 | 57 34
B i m 2,455 | 38 108 |8 = H 2,262 42 53
moE 2,921 | 22 1812 b H 1,311 1 76 14
o T 2,795 | 24 Ml — E 3,258 | 11 5%
NF R 3,111 15 Cos9|BE R OHT 13,479 1 9
HHFEF™H 2,701 21 W E & W 2,101 | 51 17
He JI| TH 1,904 | 59 64| 5 F HT 2,062 | 52 30
% B 3,016 | 20 13| & W Wy 2,048 | 55 16
BB 2,366 | 41 817 (& ® Wr 3,180 | 14 21
E & 1,792 | 65 168 | K & & Wy 2,681 | 29 57
W OE W 5526 2 01| fE Hr 2,241 | 44 20
T 5 8 2,950 | 21 126 |0 75 W7 2,104 | 50 28
fl o T 2,732 | 26 139 | K B M 2,028 | . 56 73
J\ 8 ™ 2,581 32 117 | e Hr 1,506 [ 71 38
B 15 HT 1,716 | 67 56| & W OHT 1,362 T4 15
B Mo 3,102 17 T E o Ay 1,308 [ 77 23
W % 3t oy 2,522 | 35 46|88 m OWT 1,856 | 61 50
g HE I 3,091 19 051 = % #t 1,047 79 5
H % M 2,114 | 48 1518 & My 1,150 | 78 36
B 2,612 | 31 5T & Hr 1,526 | 69 38
Bl 78 BT 2,566 | 33 64| 1l HT 1,519 70 14
A B 1,360 | 75 9|f0 M HT 1,922 | 58 17
E T 2,771 1 25 24 | R/ |NagHy 2,615 | 30 39
T # H 4,200 5 13
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